<u>Example: The Input</u> <u>Offset Voltage</u>



<u>v- not equal to v+</u>

We know that because of the input offset voltage:

 $V_{-} = V_{+} + V_{os}$

For the circuit above, the non-inverting terminal of the op-amp is connected to ground (i.e., $v_+ = 0$), and so the virtual "ground" is now described by:

 $V_{-} = V_{os}$

The current into each terminal of the op-amp is still zero, so that from KCL:

 $i_{1} = i_{2}$

where form KCL and Ohm's Law:



 $i_2 = \frac{V_- - V_{out}}{R_2} = \frac{V_{os} - V_{out}}{R_2}$

Jim Stiles

and:





2^{Vout}



And so the output voltage is:

$$V_{out} = \left(1 + \frac{R_2}{R_1}\right) V_{os}$$



The sum of these two results provides our previous answer:

$$\boldsymbol{v}_{out} = -\left(\frac{\boldsymbol{R}_2}{\boldsymbol{R}_1}\right)\boldsymbol{v}_{in} + \left(1 + \frac{\boldsymbol{R}_2}{\boldsymbol{R}_1}\right)\boldsymbol{V}_{os}$$

 $\left(1+\frac{R_2}{R_1}\right)V_{os}$

 \leftarrow

∧ V_{out}

 $-V_{off} = \left(1 + \frac{R_2}{R_1}\right)V_{os}$

 $\frac{R_2}{R_1}$





Thus, the term represents an **output offset** voltage.

Vin

How do we define gain?

Q: But what is the **gain** of this amplifier? The ratio v_{out}/v_{in} is not a constant!

 $\frac{V_{out}}{V_{in}} = -\left(\frac{R_2}{R_1}\right) + \left(1 + \frac{R_2}{R_1}\right)\frac{V_{os}}{V_{in}}$????

A: Remember, it is more accurate and more general to define gain in terms of the **derivative**:

 $A_{vo} \doteq \frac{d v_{out}}{d v_{in}}$

Which for this case provides the same result for the inverting amplifier:

